

The dual form is to evaluate  $v^T f$  where

$$A^T v = g$$

The equivalence comes from

$$v^T f = v^T A u = (A^T v)^T u = g^T u$$

or, alternatively,

$$g^T u = g^T (A^{-1} f) = (g^T A^{-1}) f = v^T f.$$

Introduction to adjoint analysis







## Linear Theory Answer 2: they are the functional value corresponding to Green's functions Consider $f_i = (\dots, 0, \underbrace{1}_{i^{th}}, 0, \dots)^T$ . Then corresponding solution $u_i$ is the discrete equivalent of a Green's function and $v^T f = v_i = g^T u_i$ .

Introduction to adjoint analysis

6

## Nonlinear design / data assimilation

Minimise J(U), subject to  $N(U, \alpha) = 0$ .

For single  $\alpha$ , can linearise about a base solution  $U_0$  to get:

$$\frac{dJ}{d\alpha} = g^T u, \qquad Au = f$$

where

$$u \equiv \frac{dU}{d\alpha}, \quad g^T = \frac{\partial J}{\partial U}, \quad A = \frac{\partial N}{\partial U}, \quad f = -\frac{\partial N}{\partial \alpha}.$$

For multiple  $\alpha$  each has <u>different</u> f, but <u>same</u> g.



Nonlinear design / data assimilation 2) If the objective function is of a least-squares type,  $J(U) = \frac{1}{2} \sum_{n} (p_n(U) - P_n)^2,$ then  $\frac{dJ}{d\alpha_i} = \sum_{n} \frac{\partial p}{\partial U} \frac{dU}{d\alpha_i} (p_n(U) - P_n),$ and so  $\frac{d^2J}{d\alpha_i} = \sum_{n} \left( \frac{\partial p}{\partial U} \frac{dU}{d\alpha_i} (\partial p dU) \right)$ 

$$\frac{a^2 J}{d\alpha_i d\alpha_j} \approx \sum_n \left(\frac{\partial p}{\partial U} \frac{a U}{d\alpha_i}\right) \left(\frac{\partial p}{\partial U} \frac{a U}{d\alpha_j}\right)$$

10

## Nonlinear design / data assimilation

Thus, the direct linear perturbation approach gives the approximate Hessian matrix, leading to very rapid convergence for the optimisation iteration.

By contrast, the adjoint approach provides no information on the Hessian, so the best optimisation methods take more steps to converge.

## Linear error analysis

Back to the original linear problem, evaluate  $g^T u$  subject to

Au = f,

and the dual problem to evaluate  $\boldsymbol{v}^T\boldsymbol{f}$  subject to

 $A^T v = g$ 

Now suppose, we have approximate solutions  $\tilde{u}, \tilde{v}$ .



Introduction to adjoint analysis

15



Introduction to adjoint analysis

14



Example  $Lu = \frac{du}{dx} - \epsilon \frac{d^2u}{dx^2}, \qquad u(0) = u(1) = 0.$  $(v, Lu) = \int_0^1 v \left(\frac{du}{dx} - \epsilon \frac{d^2u}{dx^2}\right) dx$  $= \int_0^1 u \left( -\frac{dv}{dx} - \epsilon \frac{d^2 v}{dx^2} \right) dx$ +  $\left[ vu - \epsilon v \frac{du}{dx} + \epsilon u \frac{dv}{dx} \right]_{0}^{1}$  $= \int_0^1 u \left( -\frac{dv}{dx} - \epsilon \frac{d^2 v}{dx^2} \right) dx + \left[ -\epsilon v \frac{du}{dx} \right]_0^1.$ 



Introduction to adjoint analysis

More examples	
Primal $L$	Adjoint $L^*$
$\frac{du}{dx} - \epsilon \frac{d^2u}{dx^2}$	$-\frac{dv}{dx} - \epsilon \frac{d^2v}{dx^2}$
$ abla \cdot (k  abla u)$	$ abla \cdot (k  abla v)$
$rac{\partial u}{\partial t} - rac{\partial^2 u}{\partial x^2},$	$-\frac{\partial v}{\partial t} - \frac{\partial^2 v}{\partial x^2}$
$rac{\partial u}{\partial t} + rac{\partial u}{\partial x}$	$-rac{\partial v}{\partial t}-rac{\partial v}{\partial x}$



Complications

Boundary terms in the primal functional

lead to inhomogeneous b.c.'s for the dual

(or adjoint).

Introduction to adjoint analysis





